Problems on Addition J

A. Choose the correct answer:

1. A fruit seller sold 1,245 apples on Monday and 1,325 on Tuesday. How many
apples did he sell in total?
a) 2,460
b) 2,470
c) 2,580
d) 2,570
2. What operation will you use to find the total number of books in two
shelves?
a) Subtraction
b) Division
c¢) Multiplication
d) Addition
3. A train travelled 3,520 km in one week and 4,375 km in the next week. How
far did it travel in two weeks?
a) 7,795 km
b) 7,805 km
c) 7,895 km
d) 7,905 km

B. Fill in the Blanks

1. 2,100 + 3,000 + 4,500=__

2. When we add two numbers, the answer is called the

3. A sum that involves real-life situationsiscalleda __ problem

4. If Riya has 3,215 stamps and her friend gives her 2,145 more, she has

stamps in total

5. 4,785 added to 2,218 gives a total of

C. Different Type Questions

1. A library has 12,345 books in one section and 9,321 books in another. How
many books are there in total?

2. A school has 1,250 boys and 1,145 girls. What is the total number of students
in the school?




—

3. Write your own word problem involving the addition of two 4-digit numbers

4. A car factory made 3,219 cars in January, 2,975 in February, and 3,101 in
March. How many cars were made in total?

5. Ramesh scored 435 marks in English, 472 in Maths, and 410 in Science. What
were his total marks?
D. Mark each sentence with a True (&) or False (X):

1. In word problems, we always need to look for key words like ‘total’ \—}
or ‘inall’ o
2. The sum of 2,345 and 3,210 is 5,655 \’

3. Addition word problems cannot have more than two numbers | }
4. "Altogether" means we should subtract the numbers | }

5. To solve a problem, we must understand what is being asked |

E. Miscellaneous Questions

1. A farmer harvested 1,240 kg of wheat in one field and 1,785 kg in another. Find
the total harvest

2. A toy shop sold 2,150 toys in January and 3,425 in February. How many toys
were sold in these two months?

3. Create a shopping list with at least three items and find the total cost using
addition

4. A train carries 3,600 passengers. Another train carries 4,250 passengers. How
many passengers do both trains carry together?

5. Your school raised 15,450 from one event and 12,320 from another. How

much was collected in total?




